East Asian Math J 17(2001), No 1, pp 71-85

STRONG CONVERGENCE OF SOLUTIONS OF NONLINEAR VOLTERRA EQUATIONS IN BANACH SPACES

Jong Soo Jung

ABSTRACT The strong convergences of solutions to a nonlinear Volterra equation are studied in Banach space. As an application, a nonlinear heat flow in a homogeneous bar of unit length of a material with memory is investigated

1. Introduction

Let X be a real Banach space and let A be a *m*-accretive operator in X. We shall consider the strong convergences as $t \to \infty$ of solutions to abstract nonlinear Volterra equation

$$(\mathcal{V}_{b,g,f}) \ u(t) + \int_0^t b(t-s)(Au(s) + g(s)u(s))ds \ni f(t), \ t \in \mathbb{R}^+ = [0,\infty)$$

where $b : \mathbb{R}^+ \to \mathbb{R}, g : \mathbb{R}^+ \to \mathbb{R}^+$ and $f : \mathbb{R}^+ \to X$ are given, and the integral is taken in the sense of Bochner.

The asymptotic behavior of solutions of $(V_{b,g,f})$ has primarily been studied in the case that $g \equiv 0$. See [2, 4, 5, 10, 11, 13, 14, 15, 19]. In particular, Kato [15] investigated the "unbounded behavior" of solution

Received September 27, 2000. Revised April 25, 2001

²⁰⁰⁰ Mathematics Subject Classification 45N05, 46G10, 45M05

Key words and phrases strong convergence, nonlinear Volterra equation, m-accretive operator, completely positive kernel

u(t) of $(V_{b,0,f})$, that is, the behavior when u(t) is allowed to be unbounded, and improved the results of due to Clément [4] and Clément and Nohel [5] for the convergence of the solution u(t) of $(V_{b,0,f})$ itself as $t \to \infty$. The unbounded behavior of the solution u(t) of $(V_{b,g,f})$ was given in [1, 12].

In this paper, we study the strong convergence of the solution u(t)of $(V_{b,g,f})$ itself as $t \to \infty$ in connection with the results of Clément [4], Clément and Nohel [5] and Kato [15]. An application of the physical problem is also investigated. Our study can be viewed as an attempt to extend earlier corresponding results obtained in [4, 5, 15] in the case that $g \equiv 0$.

2. Preliminaries

Let X be a real Banach space with norm $\|\cdot\|$, and dual $(X^*, \|\cdot\|_*)$. The duality pairing between X and X^* will be denoted by (\cdot, \cdot) . Let A be a set-valued operator in X with domain D(A) and range R(A). A is said to be accretive if $[y_2 - y_1, x_2 - x_1]_+ \ge 0$ for $y_i \in Ax_i$, i = 1, 2, where $[y, x]_+ = \lim_{\lambda \downarrow 0} (\|x + \lambda y\| - \|x\|)\lambda^{-1}$ for x, $y \in X$. We say that A is *m*-accretive if it is accretive and $R(I + \lambda A) = X$ for all $\lambda > 0$, where I stands for the identity on X. If A is *m*-accretive, one can define its Yosida approximation A_{λ} by $A_{\lambda} = \lambda^{-1}(I - J_{\lambda})$, with $J_{\lambda} = (I + \lambda A)^{-1}$, $\lambda > 0$. Also recall that the Yosida approximation $A_{\lambda} (\lambda > 0)$ of a *m*-accretive operator A is strictly accretive; i.e., $[A_{\lambda}x - A_{\lambda}y, x - y]_{-} \ge$ 0 for $x, y \in X$, where $[y, x]_{-} = \lim_{\lambda \uparrow 0} (\|x + \lambda y\| - \|x\|)\lambda^{-1}$ for $x, y \in X$. (cf. [6, 19]).

As in [1], we assume throughout this paper that A is an *m*-accretive operator on X and consider equation $(V_{b,g,f})$ under the following minimal assumptions:

$$(\mathbf{H}_b) \qquad b \in AC_{loc}(\mathbb{R}^+;\mathbb{R}), \quad b(0) = 1, \quad b' \in BV_{loc}(\mathbb{R}^+;\mathbb{R}),$$

$$(\mathbf{H}_g) g \in C(\mathbb{R}^+; \mathbb{R}^+)$$

(H_f)
$$f \in W^{1,1}_{loc}(\mathbb{R}^+; X), \quad f(0) \in \overline{D(A)}.$$

72

Here $\overline{D(A)}$ is the closure of D(A). According to [1, 5] under these assumptions, the equation $(V_{b,g,f})$ is (a.e on \mathbb{R}^+) equivalent to

(E)
$$\frac{du(t)}{dt} + \frac{d}{dt}(k * u)(t) + Au(t) + g(t)u(t) \ni k(t)f(0) + F(t),$$

with u(0) = f(0). Here * denotes the convolution $k * z(t) = \int_0^t k(t - s)z(s)ds$, k satisfies

(2.1)
$$b(t) + (k * b)(t) = 1, t \ge 0$$

and F is (a.e on \mathbb{R}^+) given by

(2.2)
$$F(t) = f'(t) + (k * f')(t).$$

Note that (2.1) can be rewritten as k + b' * k = -b'. so that, by (\mathbf{H}_b) , kis uniquely determined in $BV_{loc}(\mathbb{R}^+;\mathbb{R})$. It also follows (see (\mathbf{H}_f)) that $F \in L^1_{loc}(\mathbb{R}^+;X)$. The strong solutions are considered as functions in $W^{1,1}_{loc}(\mathbb{R}^+;X) \bigcap C(\mathbb{R}^+;\overline{D(A)})$ for which the equations $(\mathbf{V}_{b,g,f})$ and (E) hold a.e $t \in \mathbb{R}^+$. A function $u \in C(\mathbb{R}^+;\overline{D(A)})$ is said to be a generalized solution of the equation $(\mathbf{V}_{b,g,f})$ if $\lim_{\lambda \downarrow 0} u_{\lambda} = u$ in C([0,T];X) for any $0 < T < \infty$, where u_{λ} is the strong solution of the approximating equation $(\mathbf{V}_{\lambda b,g,f})$ (equivalently, (\mathbf{E}_{λ})) in which A is replaced by the Yosida approximation A_{λ} for each $\lambda > 0$ (cf. [1, 6, 8]).

To study the convergence of generalized solutions of $(V_{b,g,f})$, we need the concept of a complete positivity of the kernel *b*. This concept is defined as follows (cf. [5, 15]). For $b \in L^1_{loc}(\mathbb{R}^+;\mathbb{R})$, define s(b) and $r(b) \in L^1_{loc}(\mathbb{R}^+;\mathbb{R})$ by the equations

(2.3)
$$s(b)(t) + b * s(b)(t) = 1$$

(2.4)
$$r(b)(t) + b * r(b)(t) = b(t)$$

respectively. We say that b is completely positive on \mathbb{R}^+ if $s(\lambda b)$ and $r(\lambda b)$ are nonnegative on \mathbb{R}^+ for every $\lambda > 0$. It is well-known [2, 5] that if (H_b) is satisfied and k, defined by (2.1), is nonnegative

and nonincreasing on \mathbb{R}^+ , then the kernel *b* is completely positive on \mathbb{R}^+ . Furthermore, in this case *b* satisfies $0 \leq b(t) \leq 1$ for $t \geq 0$, and $\lim_{t\to\infty} b(t) = b(\infty)$ exists with $b(\infty) = (1 + \int_0^\infty k(s)ds)^{-1}$ if $k \in L^1(\mathbb{R}^+;\mathbb{R})$, and $b(\infty) = 0$ if $k \notin L^1(\mathbb{R}^+;\mathbb{R})$. It follows from this fact that $b(\infty) > 0$ if and only if $k \in L^1(\mathbb{R}^+;\mathbb{R})$. Also, in this case, $b \notin L^{(\mathbb{R}^+;\mathbb{R})}$.

Finally, we recall the following important property of completely positive kernel.

PROPOSITION 2.1 [11, 13] Let b be completely positive and $w \in W^{1,1}_{loc}(\mathbb{R}^+; X)$. Then $k \ast w$ and $k \ast ||w||$ are locally absolutely continuous and differentiable a.e. on \mathbb{R}^+ . Furthermore,

(2.5)
$$\left[\frac{d}{dt}(k*w)(t),w(t)\right]_{+} \geq \frac{d}{dt}(k*\|w\|)(t)$$

for almost all t > 0.

3. Main results

Now, we study the convergence of solutions u(t) of $(V_{b,g,f})$ itself as $t \to \infty$.

First, we have the following main result along with a slightly different method from that of result of Kato [15] in the case that $g \equiv 0$.

THEOREM 3.1 Let (H_b) , (H_g) and (H_f) be satisfied and let F be associated to f by (2.2). Suppose that b is completely positive. Let $b \in L^1(\mathbb{R}^+;\mathbb{R})$ and let $g \in L^1(\mathbb{R}^+)$. Then for the generalized solution u of $(V_{b,g,f})$,

(3.1)
$$\|u(t) - u^{\infty}\| \leq \frac{1}{\overline{b}} \left(\int_{t}^{\infty} b(t-s) ds \right) \|u_{0} - u^{\infty}\|$$
$$- \int_{0}^{t} b(t-s)g(s)\|u(s) - u^{\infty}\| ds$$
$$+ \int_{0}^{t} b(t-s)[F(s) - F^{\infty}, u(s) - u^{\infty}]_{+} ds,$$

where $u^{\infty} = J_{\overline{b}}(u_0 + \overline{b}F^{\infty})$, $\overline{b} = \int_0^{\infty} b(t)dt > 0$ and $F^{\infty} \in X$.

In particular, let $F = F_1 + F_2$. Suppose either that $F_1 \in L^{\infty}(\mathbb{R}^+; X)$ and $\lim_{t\to\infty} F_1(t) = F^{\infty}$ or that $F_1 - F^{\infty} \in L^p(\mathbb{R}^+; X), 1 \le p < \infty$, and suppose that $F_2 \in L^1(\mathbb{R}^+; X) + L^p(\mathbb{R}^+; X), 1 . Then$ $<math>\lim_{t\to\infty} u(t) = u^{\infty}$.

PROOF Since A_{λ} is *m*-accretive, there exists a $u_{\lambda}^{\infty} \in X$ such that $u_{\lambda}^{\infty} + \bar{b}A_{\lambda}u_{\lambda}^{\infty} = u_0 + \bar{b}F^{\infty}$. The *m*-accretiveness of A guarantees that $\lim_{\lambda \downarrow 0} u_{\lambda}^{\infty} = u^{\infty}$. Let u_{λ} be a strong solution of $(V_{\lambda b,g,f})$ Then, by strictly accretiveness of A_{λ} and the inequality (2.5), we have

$$\begin{split} 0 &\leq [A_{\lambda}u_{\lambda}(t) - A_{\lambda}u_{\lambda}^{\infty}, u_{\lambda}(t) - u_{\lambda}^{\infty}]_{-} \\ &= \left[-\frac{d}{dt}u_{\lambda}(t) - \frac{d}{dt}(k \ast u_{\lambda})(t) - g(t)(u_{\lambda}(t) - u_{\lambda}^{\infty}) \right. \\ &+ k(t)(u_{0} - u_{\lambda}^{\infty}) + F(t) - \frac{1}{\overline{b}}(u_{0} - u_{\lambda}^{\infty}) - F^{\infty}, u_{\lambda}(t) - u_{\lambda}^{\infty}]_{-} \\ &\leq - \left(\frac{d}{dt} [\|u_{\lambda}(t) - u_{\lambda}^{\infty}\| + k \ast \|u_{\lambda} - u_{\lambda}^{\infty}\|(t)] + g(t)\|u_{\lambda}(t) - u_{\lambda}^{\infty}\| \right) \\ &+ \left(k(t) - \frac{1}{\overline{b}} \right) \|u_{0} - u_{\lambda}^{\infty}\| + [F(t) - F^{\infty}, u_{\lambda}(t) - u_{\lambda}^{\infty}]_{+} \end{split}$$

and hence

(3.2)
$$\frac{d}{dt} \left[\|u_{\lambda}(t) - u_{\lambda}^{\infty}\| + k * \|u_{\lambda} - u_{\lambda}^{\infty}\|(t) \right] + g(t) \|u_{\lambda}(t) - u_{\lambda}^{\infty}\| \\ \leq \left(k(t) - \frac{1}{\overline{b}} \right) \|u_{0} - u_{\lambda}^{\infty}\| + [F(t) - F^{\infty}, u_{\lambda}(t) - u_{\lambda}^{\infty}]_{+}.$$

Define, for fixed $\lambda > 0$,

$$\begin{aligned} x(t) &= \|u_{\lambda}(t) - u_{\lambda}^{\infty}\| - \|u_0 - u_{\lambda}^{\infty}\|, \\ \varphi(t) &= -\frac{1}{\overline{b}}\|u_0 - u_{\lambda}^{\infty}\| + [F(t) - F^{\infty}, u_{\lambda}(t) - u_{\lambda}^{\infty}]_{+} - g(t)\|u_{\lambda}(t) - u_{\lambda}^{\infty}\| \\ \text{and} \end{aligned}$$

(3.3)
$$\psi(t) = x(t) + (k * x)(t).$$

$$\begin{array}{l} \text{Then }\psi(0)=0 \,\, \text{and} \\ (3.4) \\ \frac{d}{dt}\psi(t)= \,\, \frac{d}{dt}[\|u_\lambda(t)-u_\lambda^\infty\|+k*\|u_\lambda-u_\lambda^\infty\|(t)]-k(t)\|u_0-u_\lambda^\infty\| \leq \,\, \varphi(t). \end{array} \\ \end{array}$$

Using (2.1) (or k + k * b' = -b') and means of the variation of constants formula together with (3.3), we obtain

(3.5)
$$x(t) = \psi(t) + (b' * \psi)(t) = \psi(t) + \int_0^t b'(t-s)\psi(s)ds, \quad t \ge 0.$$

An integration by parts shows that (3.5) is equivalent to

(3.6)
$$x(t) = \int_0^t b(t-s)\psi'(s)ds.$$

Since $b \ge 0$, we deduce from (3.4) and (3.6) that

$$x(t) \leq \int_0^t b(t-s) arphi(s) ds,$$

and hence we obtain (3.7)

$$egin{aligned} \|u_\lambda(t)-u_\lambda^\infty\|&=\|u_0-u_\lambda^\infty\|&\leq -rac{1}{\overline{b}}igg(\int_0^t b(s)dsigg)\|u_0-u_\lambda^\infty\|\ &+\int_0^t b(t-s)[F(s)-F^\infty,u_\lambda(s)-u_\lambda^\infty]_+ds\ &-\int_0^t b(t-s)g(s)\|u_\lambda(s)-u_\lambda^\infty\|ds. \end{aligned}$$

Letting $\lambda \downarrow 0$ in (3.7), we obtain(3.1).

For the proof of the last assertion, since $\int_0^t b(t-s)g(s)ds \ge 0$ for $t \ge 0$, it is enough to show that either if $\lim_{t\to\infty} y(t) = y^{\infty}$ or if $y-y^{\infty} \in L^p(\mathbb{R}^+;X)$, $1 \le p < \infty$, then $\lim_{t\to\infty} \int_0^t b(t-s) ||y-y^{\infty}||(s)ds = 0$. But one can easily check these facts since $b \in L^1(\mathbb{R}^+;\mathbb{R})$ and $b(\infty) = 0$. THEOREM 3.2 Let (H_b) , (H_g) and (H_f) be satisfied and let F be associated to f by (2.2). Suppose that b is completely positive and that there exists an $\omega > 0$ such that $A - \omega I$ is accretive in X. Let r(b), s(b)be defined by (2.3), (2.4), respectively, and let $g \in L^1(\mathbb{R}^+)$. Then, for the generalized solution u of $(V_{b,g,f})$,

$$\|u(t) - u^{\infty}\| \leq \left(1 - \int_0^t r(\omega b)(\tau) d\tau\right) \|u_0 - u^{\infty}\|$$

$$(3.8) \qquad \qquad -\frac{1}{\omega} \int_0^t r(\omega b)(t - \tau)g(\tau) \|u(\tau) - u^{\infty}\| d\tau$$

$$+ \int_0^t r(\omega b)(t - \tau)[F(\tau) - F^{\infty}, u(\tau) - u^{\infty}]_+ d\tau,$$

and

$$\|u(t) - u^{\infty}\| + k * \|u - u^{\infty}\|(t)$$

$$\leq \left(1 + \int_{0}^{t} k(\tau)d\tau - \omega \int_{0}^{t} s(\omega b)(\tau)d\tau\right) \|u_{0} - u^{\infty}\|$$

$$(3.9) \qquad - \int_{0}^{t} s(\omega b)(t - \tau)g(\tau)\|u(\tau) - u^{\infty}\|d\tau$$

$$+ \int_{0}^{t} s(\omega b)(t - \tau)[F(\tau) - F^{\infty}, u(\tau) - u^{\infty}]_{+}d\tau$$

where $F^{\infty} \in X$ and u^{∞} is the unique element in X satisfying $Au^{\infty} \ni F^{\infty}$.

In particular, let $F = F_1 + F_2$. Suppose either that $b \notin L^1(\mathbb{R}^+;\mathbb{R})$ and $F_1 \in L^{\infty}(\mathbb{R}^+;X)$ and $\lim_{t\to\infty} F_1(t) = F^{\infty}$ or that $k \in L^1(\mathbb{R}^+;\mathbb{R})$ (this implies $b \notin L^1(\mathbb{R}^+)$) $F_1 - F^{\infty} \in L^p(\mathbb{R}^+;X)$, $1 \leq p < \infty$, and suppose that $F_2 \in L^1(\mathbb{R}^+;X) + L^p(\mathbb{R}^+;X)$, 1 . Then $<math>\lim_{t\to\infty} u(t) = u^{\infty}$.

PROOF Let u_{λ} be a strong solution of $(V_{\lambda b,g,f})$ and \hat{u}_{λ} be the one corresponding to \hat{u}_0 and \hat{f} . Since $A - \omega I$ is accretive, $A_{\lambda} - \delta$, $\delta = \frac{\omega}{1 + \lambda \omega}$

is (strictly) accretive. Thus, by the inequality (2.5), we have

$$egin{aligned} &\delta \|u_\lambda(au) - \hat{u}_\lambda(au)\| \leq [A_\lambda u_\lambda(au) - A_\lambda \hat{u}_\lambda(au), u_\lambda(au) - \hat{u}_\lambda(au)]_- \ &\leq -rac{d}{d au} [\|u_\lambda(au) - \hat{u}_\lambda(au)\| + k*\|u_\lambda - \hat{u}_\lambda\|(au) \ &+ g(au)\|u_\lambda(au) - \hat{u}_\lambda(au)\|] \ &+ k(au)\|u_0 - \hat{u}_0\| + [F(au) - \hat{F}(au), u_\lambda(au) - \hat{u}_\lambda]_+. \end{aligned}$$

Set $\alpha(t) = \frac{d}{dt} \|u_{\lambda}(t) - \hat{u}_{\lambda}(t)\|$. Then it follows that (3.10) $\alpha(\tau) + k * \alpha(\tau) \le -(g(\tau) + \delta) \|u_{\lambda}(\tau) - \hat{u}_{\lambda}(\tau)\|$ $+ [F(\tau) - \hat{F}(\tau), u_{\lambda}(\tau) - \hat{u}_{\lambda}(\tau)]_{+}$ a.e. $\tau \in \mathbb{R}^{+}$.

Now to show (3.8), observe that b+k*b=1 and $r(\omega b)+\omega b*r(\omega b)=\omega b$ yield the relation $r(\omega b)+k*r(\omega b)=\omega(1-1*r(\omega b))$. Since $r(\omega b) \ge 0$ (by completely positivity of b), we multiply (3.10) by $r(\omega b)*$ to obtain (3.11)

$$\begin{split} \|u_{\lambda}(t) - \hat{u}_{\lambda}(t)\| &\leq \left(1 - \int_{0}^{t} r(\omega b)(\tau)\right) \|u_{0} - \hat{u}_{0}\| \\ &+ \left(1 - \frac{\delta}{\omega}\right) r(\omega b) * \|u_{\lambda} - \hat{u}_{\lambda}\|(t) \\ &- \frac{1}{\omega} \int_{0}^{t} r(\omega b)(t - \tau) g(\tau) \|u_{\lambda}(\tau) - \hat{u}_{\lambda}(\tau)\| d\tau \\ &+ \frac{1}{\omega} \int_{0}^{t} r(\omega b)(t - \tau) [F(\tau) - \hat{F}(\tau), \hat{u}_{\lambda}(\tau - \hat{u}_{\lambda}(\tau)]_{+} d\tau. \end{split}$$

Since $1 - \frac{\delta}{\omega} = \frac{\lambda \omega}{1 + \lambda \omega}$, letting $\lambda \downarrow 0$ in (3.11) yields

$$\begin{split} \|u(t) - \hat{u}(t)\| &\leq \left(1 - \int_0^t r(\omega b)(\tau) d\tau\right) \|u_0 - \hat{u}_0\| \\ &\quad - \frac{1}{\omega} \int_0^t r(\omega b)(t - \tau) g(\tau) \|u(\tau) - \hat{u}(\tau)\| d\tau \\ &\quad + \frac{1}{\omega} \int_0^t r(\omega b)(t - \tau) [F(\tau) - \hat{F}(\tau), u(\tau) - \hat{u}(\tau)]_+ d\tau \end{split}$$

where \hat{u} is a generalized solution of $(V_{b,g,\hat{f}})$. Thus, in particular, if $Au^{\infty} \ni F^{\infty}$, we obtain (3.8).

Next, to prove (3.9), observe that b+k*b=1 and $s(\omega b)+\omega*s(\omega b)=1$ implies $s(\omega b)+k*(\omega b)=1+1*k-\omega*s(\omega b)$. Since $s(\omega b) \ge 0$ (by completely positivity of b), we multiply (3.10) by $s(\omega b)*$ to get (3.12)

$$\begin{split} \|u_{\lambda}(t) - \hat{u}_{\lambda}(t)\| + k * \|u_{\lambda} - \hat{u}_{\lambda}\|(t) - \omega s(\omega b) * \|u_{\lambda} - \hat{u}_{\lambda}\|(t) \\ &\leq \left(1 + \int_{0}^{t} k(\tau) - \omega \int_{0}^{t} s(\omega b)(\tau) d\tau\right) \|u_{0} - \hat{u}_{0}\| \\ &- \frac{\omega}{1 + \lambda \omega} s(\omega b) * \|u_{\lambda} - \hat{u}_{\lambda}\|(t) - \int_{0}^{t} s(\omega b)(t - \tau)g(\tau)\|u_{\lambda}(\tau) \\ &- \hat{u}_{\lambda}(\tau)\|d\tau + \int_{0}^{t} s(\omega b)(t - \tau)[F(\tau) - \hat{F}(\tau), u_{\lambda}(\tau) - \hat{u}_{\lambda}(\tau)]_{+} d\tau. \end{split}$$

Then, letting $\lambda \downarrow 0$ in (3.12), we have

$$\begin{split} \|u(t) - \hat{u}(t)\| + k * \|u - \hat{u}\|(t) \\ &\leq \left(1 + \int_0^t k(\tau) d\tau - \omega \int_0^t s(\omega b)(\tau) d\tau\right) \|u_0 - \hat{u}_0\| \\ &- \int_0^t s(\omega b)(t - \tau) g(\tau) \|u(\tau) - \hat{u}(\tau)\| d\tau \\ &+ \int_0^t s(\omega b)(t - \tau) [F(\tau) - \hat{F}(\tau), u(\tau) - \hat{u}(\tau)]_+ d\tau. \end{split}$$

In particular, if $Au^{\infty} \ni F^{\infty}$, we obtain (3.9). Since

$$\int_0^t r(\omega b)(t-\tau)g(\tau)\|u(\tau)-u^\infty\|d\tau \geq 0$$

 and

$$\int_0^t s(\omega b)(t-\tau)g(\tau) \|u(\tau) - u^\infty\|d\tau \ge 0 \quad \text{for } t \ge 0,$$

the last statement follows from the fact that if $b \notin L^1(\mathbb{R}^+;\mathbb{R})$, then for every $\omega > 0$, $\lim_{t\to\infty} s(\omega b)(t) = 0$ and $\int_0^\infty r(\omega b)(\tau) d\tau = 1$ ([5, Proposition 2.1]). Note also that $k \in L^1(\mathbb{R}^+; \mathbb{R})$ implies $b \notin L^1(\mathbb{R}^+; \mathbb{R})$ and then

$$\omega \int_0^\infty s(\omega b)(\tau) d\tau = \frac{1}{b(\infty)} = 1 + \int_0^\infty k(\tau) d\tau.$$

Remark 1

(1) Theorem 3.1 is an improvement of Theorem 2 of Clément [4], Theorem 3.2 of Clément and Nohel [5] and Theorem 3.1 of Kato [15] in the case that $g \equiv 0$.

(2) Theorem 3.3 in [5] and Theorem 3.2 in [15] is also a special case of Theorem 3.2 if $g \equiv 0$.

(3) It follows from Theorem 3.2 that if A is a strongly *m*-accretive operator, then the estimates of convergence can be obtained (here $A^{-1}0$ is not assumed bounded compact and X is arbitrary in comparison with [21]). Some other strong convergence results were obtained in [13, 14] in the case that $g \equiv 0$.

4. An example

In this section, as in [1, 5, 19], we consider a nonlinear heat flow in a homogeneous bar of unit length of a material with memory.

Let u(t,x), e(t,x), q(t,x) and $\mu(t,x)$ denote, respectively, the temperature, internal energy, heat flux, and external heat supply at time t and position x ($-\infty < t < \infty$, $0 \le x \le 1$). Let the ends of the bar at x = 0 and x = 1 be maintained at zero temperature. For simplicity and without loss of generality let the history of u be prescribed as zero when t < 0 and $0 \le x \le 1$. The equation satisfied by u is derived from the assumptions that in such materials the internal energy e and the heat flux q are functionals of u and of the gradient of u respectively (rather than functions of u and u_x). Specifically, according to the theory developed by, e.g., Gurtin and Pipkin [9], Nunziato [20] for heat flow in materials of fading memory type, we assume that e and q are taken respectively as the functionals

(4.1)

$$e(t,x) = b_0 u(t,x) + \int_0^t \beta(t-s)u(s,x)ds + \int_0^t \alpha(t-s)g(s)u(s,x)ds,$$

80

(4.2)
$$q(t,x) = -c_0 \sigma(u_x(t,x)) + \int_0^t \gamma(t-s) \sigma(u_x(s,x)) ds,$$

for $t \ge 0$ and 0 < x < 1.

Here $b_0 > 0$, $c_0 > 0$ are positive constants and the functions β , $\gamma : \mathbb{R}^+ \to \mathbb{R}$ are given sufficiently smooth functions called the *internal energy* and *heat flux relaxation functions*, respectively. The given function σ is a real function satisfying

$$(4.3) \qquad \quad \sigma \in C^1(\mathbb{R}), \quad \sigma(0)=0, \quad \sigma'(s) \geq p_0 > 0, \quad s \in \mathbb{R},$$

for some $p_0 > 0$, $\alpha(t) = c_0 - \int_0^t \gamma(s) ds$, and $g \in C(\mathbb{R}^+; \mathbb{R}^+)$. In the physical literature the relaxation functions β , γ are usually taken as finite linear combinations of decaying exponentials with positive coefficients. For physical reasons (see [5], [19]), we should require at least that β , $\gamma \in L^1(\mathbb{R}^+)$ and

$$b_0+\int_0^\inftyeta(t)dt>0 \quad ext{ and } \quad c_0-\int_0^\infty\gamma(t)dt>0.$$

The law of balance of heat requires that the equation $e_t = -q_x + \mu$ (= $-\operatorname{div} q + \mu$) should hold. If $u(0, x) = u_0(x)(0 < x < 1)$ is the initial temperature distribution in the rod, we obtain, in view of (4.1), (4.2) and the assumption that the temperature at the ends of the rod is zero, the following initial-boundary value problem to be satisfied by the temperature u:

(4.4)

$$\frac{\partial}{\partial t} [b_0 u(t,x) + (\beta * u)(t,x) + (\alpha * gu)(t,x)] = c_0 \sigma (u_x(t,x))_x - (\gamma * \sigma (u_x)_x)(t,x) + \mu(t,x), \\
0 < t < \infty, \quad 0 < x < 1, \\
u(t,0) = u(t,1) = 0, \quad t > 0, \\
u(0,x) = u_0(x), \quad 0 < x < 1.$$

We remark that if the history of u for t < 0 is not zero, the integrals in (4.1) and (4.2) range over the interval $(-\infty, t)$ (rather than (0, t)), and

the resulting equation corresponding to (4.4) would have additional known forcing terms stemming from the integrals over $(-\infty, 0)$ in (4.1) and (4.2).

As in [1, 5, 20], we transform this initial-boundary value problem to a Volterra integral equation in the space $X = L^2(0, 1)$. Let

(4.5)
$$G(t,x) = u_0(x) + \int_0^t \mu(s,x) ds, \quad t \ge 0, \quad 0 < x < 1,$$

and note that

$$c_0\sigma(u_x)_x - \gamma * \sigma(u_x)_x = \frac{\partial}{\partial t}(\alpha * \sigma(u_x)_x).$$

Then (4.4) with $b_0 = 1$ and $c_0 = 1$ (without loss of generality) leads to the equation

(4.6)
$$u + \beta * u + \alpha * (Au + gu) = G, \quad t \ge 0, \quad 0 < x < 1.$$

The nonlinear operator $A : D(A) \subset X \to X$ is defined by $Au = -\sigma(u_x)_x$, together with the boundary conditions $u(t,0) = u(t,1) \equiv 0$ and

$$D(A) = \{ u \in H_0^1(0,1) : \sigma(u_x)_x \in X \}.$$

It is well known that if assumptions (4.3) are satisfied, then $A = \partial \phi$, where $\phi : L^2(0,1) \to (-\infty,\infty]$,

(4.7)
$$\phi(y) = \begin{cases} \int_0^1 W(\frac{dy}{dx})(x) dx & \text{if } y \in H_0^1(0,1) \\ +\infty & \text{otherwise,} \end{cases}$$

where $W(z) = \int_0^z \sigma(\xi) d\xi$. Thus ϕ is convex, lower-semicontinuous and proper on $L^2(0,1)$ (in fact, $\phi(y) \ge 0$), and A is maximal monotone and hence *m*-accretive on X (see Lemma 2.3 in [19] (cf. [3])).

Let $r(\beta)$ denote the resolvent kernel of β (i.e., $r(\beta) + \beta * r(\beta) = \beta$). Clearly, if $\beta \in L^1(\mathbb{R}^+)$, then $r(\beta) \in L^1_{loc}(\mathbb{R}^+)$ (at least). Next, define $b: \mathbb{R}^+ \to \mathbb{R}$ and $f: \mathbb{R}^+ \to X$ by

(4.8)
$$b = \alpha - r(\beta) * \alpha,$$

82

 and

$$(4.9) f = G - r(\beta) * G,$$

respectively. Then the variation of constants formula shows that (4.6) is equivalent to

$$(4.10) \quad u+b*(Au+gu)=f \ (=u_0+1*(\mu-r(\beta)*\mu-u_0r(\beta))),$$

which is an equation of the form $(V_{b,g,f})$.

Now, we can apply the theory developed in Section 3 to discuss the strong convergence of the generalized solution of (4.10) (equivalent to the heat flow problem (4.4) with $b_0 = 1$ and $c_0 = 1$). We assume that $u_0 \in L^2(0,1)$ and that the forcing function $\mu \in L^1_{loc}(\mathbb{R}^+; L^2(0,1))$ Then, by (4.5), (4.9), and since the resolvent of β satisfies $r(\beta) \in L^1_{loc}(\mathbb{R}^+)$ under the condition $\beta \in L^1(\mathbb{R}^+)$, it is easily seen that $f \in W^{1,1}_{loc}(\mathbb{R}^+; L^2(0,1))$ under same condition. Also note that D(A) is dense in X, so that all of (H_f) is satisfied. If moreover, we take (H_b) , (H_g) to hold, then (4.10) has a unique generalized solution u on \mathbb{R}^+ .

Before giving the convergence result for (4.10), we now state a lemma which is essentially [5, Lemma 4.2].

LEMMA 4.1 Let β be bounded, nonnegative, nonincreasing and convex on \mathbb{R}^+ . Let γ be positive, nonincreasing, log-convex, and bounded on \mathbb{R}^+ . Suppose that

$$lpha(\infty)=1-\int_0^\infty \gamma(t)dt>0, \ \ and \ \ eta'(t)+\gamma(0)eta(t)\leq 0 \ \ a.e. \ t>0.$$

Then b (given by (4.8)) is completely positive and satisfies (H_b) , and k associated with b in (2.1) satisfies $k \in L^1(\mathbb{R}^+ : \mathbb{R})$ with

(4.11)
$$\int_0^\infty k(\tau) d\tau = \left[\frac{1}{\alpha(\infty)}\overline{\gamma}(1+\beta) + \overline{\beta}\right],$$

where $\overline{\beta} = \int_0^\infty \beta(t) dt$, $\overline{\gamma} = \int_0^\infty \gamma(t) dt$. Moreover, $b \notin L^1(\mathbb{R}^+;\mathbb{R})$ and $b' \in L^1(\mathbb{R}^+,\mathbb{R})$.

Now we give the result of applying Theorem 3.2, combined with Lemma 4.1, to the heat flow problem (4.1) with $b_0 = 1$ and $c_0 = 1$.

THEOREM 4.2 Let the assumption of Lemma 4.1 be satisfied. Let $u_0 \in L^2(0,1), \ \mu \in L^1_{loc}(\mathbb{R}^+; L^2(0,1))$ Let the assumption (4.3) be satisfied and let k, F, b, f be defined by (2.1), (2.2) and (4.8). Suppose that g satisfies (H_g) and $g \in L^1(\mathbb{R}^+)$. Let $A = \partial \phi$, where ϕ is defined in (4.7).

If, in addition, $\beta \in L^1(\mathbb{R}^+)$, and $\mu = \mu_1 + \mu_2$ (where $\mu_1 \in L^{\infty}(\mathbb{R}^+; L^2(0, 1))$) and there exists $\mu^{\infty} \in L^2(0, 1)$ such that $\lim_{t\to\infty} \|\mu_1(t) - \mu^{\infty}(t)\|_{L^2(0,1)} = 0$, and where $\mu_2 \in L^P(\mathbb{R}^+; L^2(0,1))$ for some $p \ge 1$), then equation (4.10) has a unique generalized solution u such that converges strongly in $L^2(0,1)$ as $t \to \infty$ to the element $u^{\infty} \in L^2(0,1)$; u^{∞} is the unique solution of the limit equation $Au^{\infty} = F^{\infty}$, where

$$F^{\infty} = \mu_1^{\infty} \left(1 + \frac{\overline{\gamma}}{\sigma(\infty)} \right), \qquad \overline{\gamma} = \int_0^{\infty} \gamma(t) dt.$$

In particular, if $\mu_1^{\infty} = 0$, then $u^{\infty} = 0$.

PROOF The result follows from the last statement of Theorem 3.2 and the proof of [5, Theorem 4.1].

REMARK 2 Theorem 4.2 is also an improvement of [5, Theorem 4.1, 3] in the case that $g \equiv 0$.

References

- S Aizicovici, S.O Londen and S Reich, Asymptotic behavior of solutions to a class of nonlinear Volterra equations, Differential and Integral Eqs. 3 (1990), 813 - 825
- J B Baillon and P Clément, Ergodic theorems for nonlinear Volterra equations in Hilbert space, Nonlinear Anal 5 (1981), 789 - 801
- [3] H Brézis, Opérateurs Maximaux Monotones et Semi-groupes de Contractions dans les Espaces de Hilbert, Math Studies 5, North-Holland, Amsterdam, 1973
- [4] P. Clément, On abstract Volterra equations with kernels having a positive resolvent, Israel J. Math. 36 (1980), 193 - 200.
- [5] P Clément and J A Nohel, Asymptotic behavior of solutions of nonlinear Volterra equations with completely positive kernels, SIAM J Math Anal 12 (1981), 514 - 535
- [6] M.G. Crandall and J.A. Nohel, An abstract functional differential equation and a related nonlinear Volterra equation, Israel J. Math. 29 (1978), 313 - 328

- M G Crandall, Nonlinear Functional Analysis and its Applications, vol 45(1),
 F E. Browder, ed., Proceedings of Symposia in Pure Mathematics, Amer Math Soc.,
 Providence, R. I., 1986, pp. 305 338
- [8] G Gripenberg, Volterra integro-differential equations with accretive nonlinearity, J Differential Eqs. 60 (1985), 57 - 79
- [9] DS Gurtin and AC Pipkin, A general theory of heat condition with finite wave speeds, Arch Rational Mech Anal. 31 (1968), 113 - 126
- [10] N Hirano, Asymptotic behavior of solutions of nonlinear Volterra equations, J Differential Eqs 47 (1983), 163 - 179
- [11] D.S. Hulbert and S. Reich, Asymptotic behavior of solutions to nonlinear Volterra integral equations, J. Math. Anal Appl. 104 (1984), 155 172.
- [12] J S Jung, Asymptotic behavior of solutions of nonlinear Volterra equations and mean points, to appear in J Math.Anal.Appl
- [13] N Kato, K Kobayashi and I Miyadera, On the asymptotic behavior of evolution equations associated with nonlinear Volterra equations, Nonlinear Anal. 9 (1985), 419 - 430
- [14] N Kato, On the asymptotic behavior of solutions of nonlinear Volterra equations, J. Math.Anal.Appl. 120 (1986), 419 - 430
- [15] N Kato, Unbounded behavior and convergence of solutions of nonlinear Volterra equations in Banach spaces, Nonlinear Anal 12 (1988), 1193 - 1201
- [16] K Kobayası, On the asymptotic behavior for a certain nonlinear evolution equation, J Math Anal Appl 101 (1984), 555 561
- [17] V Lakshmikantham and S Leela, Nonlinear Differential Equations in Abstract Spaces, International Series in Nonlinear Mathematics Vol. 2, Pergamon Press, 1981
- [18] R K Miller, Nonlinear Volterra Integral Equations, Mathematics Lecture Notes Series, W A Benjamin, 1971
- [19] J A Nohel, Nonlinear Volterra equations for heat flow in Materials with memory, Integral and Functional Differential Equations, Lecture Notes in Pure and applied Math Vol 67, Dekker, New York/Basel, 1981, pp. 3 - 82.
- [20] J W Nunziato, On heat conduction in materials with memory, Quart Appl Math 29 (1971), 187 - 204
- [21] S. Reich, Admissible pairs and integral equations, Technion Preprint Series No. MT- 680 (1985)

Department of Mathematics Dong-A University Pusan 604-714, Korea *E-mail*: jungjs@mail.donga.ac.kr